to make this easiet.
One such niche market W
- short-stay visas an
" new start-up banks promise {0 0
“" in many languages, digitally and also at a few erI?GhES, to
" be located at the most convenient places for his target .

T

Directions (1-10) : Read rthe following passage carefully I

and answer the questions. Certain words/phrases are given

in bold to help you locate them while answering some of the
questions.

“I promise to open a bank account for a British citizen in just

two minutes”. With a background in IT banking and asset

‘management, this young entrepreneur is submitting plans to
the regulators to start a new bank called Lintel,: the
two-minute pledge is one of his selling points: He reckons
_that he can do better than the existing banks, and 1s putting
' plenty of his own money where his mouth is, as part of the

5m ($7.5m) start-up cost. He hopes to start doing business |
early next year. Since April, 2013, three new British banks |
have appeared and three outfits have taken over old |

licenses. An official at the Prudential Regulation Authority
~ (PRA) who doles out banking licences is part of the Bank of
England, says people are now applying to open banks n

operating this year, he says with a further four or so :

- -probably coming to market next year. At least as far as the
consumer is concerned, banking could be on the verge of

*quite a shake-up.

Since March, 2013, the process to apply for a license has

. been streamlined. The PRA claims that a new bank can be
up and running just six months after final authorization. The
¥ capital requirements for the start-ups are lower than t}}ey
" used to be. And many of the new entrants are acting like

¢classic entfepreneurs. They work out how the existing
" banks are failing customers then look for niches, whether in

o products, customers or technology. All are eanuraged by

= the growing willingness of consumers 10 switch from one

" pank to another, stimulated in part by regulations design o

1] be immigrants, both students on

ffer a full range of products,

ar “unprecedented numbers.” Four applicants are likely to start |

é
!

d longer-term economic migrants and |

customers—such as the railway stations in London that
serve Heathrow and Gatwick airports.

Another niche (e.g. Atom Bank), by contrast, 18
technological. It will be the first British bank to be
digital-only, with all transactions done - through
smartphones and tablets, via an app. This ought to lower the
bank’s overheads. The banking sector is currently the
subject of a review by the Competition and Markets
Authority, an official watchdog. Most of the new entrants
would agree with the authority’s crificism that some
features of the traditional banking system “‘prevent, restrict
or distort competition”, in relation to both personal
customers and small businesses. They attack what they call
the opaque pricing of many current accounts and view to
drive change. The entrepreneurs also claim that their
innovative new products and technologiles will help to
address some of those criticisms.. |

. Choose the word which is most nearly the same in meaning

to the word DOLES given in bold as used in the passage.

(1) Benefits (2) Charity
(3) Sorrows (4) Handouts
(5) Issues

. Choose the word which 1s most nearly the same 1n meaning

to the word APPEARED given 1n bold as used in the
passage.

(1) Performed (2) Shown -
(3) Survived (4) Lived
(5) Emerged

. Which of the following 15 TRUE 'in the context of the
- passage ?

(1) Many large banks have collapsed and their place is being
taken over by foreign banks. .

(2) All present British banks largely offer digital services -
and are reducing physical branches. |

(3) British banks are facing a financial crunch and need a
stimulus from the government. | |

(4) The Bank of England has improved the process of

issuance of bank licenses.
(5) None of the given options is true m the context of the
passage.



4. What is the author’s view regarding the start-up innovations

in banking ?

(1) These pose a threat to the banking system as they are not
governed by stringent regulations.

(2) Their operations are mainly online making it difficult for
certain functions of their customers.

(3) These are providing an alternate to traditional banking |

and may transform the banking industry.

(4) These will not be very suwessfui as customers are wary
of leaving traditional banks.

(5) Other than those given as options -

. Which of the following is the central idea of the passage ?

(1) As new banks are being set-up, the nature of Banking
will change in British.

(2) While many innovations are taking place in bankmg, |

banks lack capital to sustain these. .
(3) Bank credit in England 1s at an all time low preqent
{4) Technology is taking over banks pufﬁng security at risk.

(5) Customers are unhappy with the central bank’s decision |

~ to encourage setting up of new risky banks.
. What does the example of Lintel cited in the passage convey 7

(1) New generation banks have grown bigger than

conventional banks.
(2) Britain’s central bank is allowing banks to be setup
indiscriminately. | | .
(3) Quite a few new banks are being setup in Britain
targeting certain customer needs. |

(4) Bypassing ' time-consuming but necessary reguiatmns -

puts banks at risk.

(5) The Central Bank of England has to implement stricter |

regulatory measures.

. Choose the word which is most opposite in meaning to the
word CLASSIC given in bold as used in the passage.

(1) Remarkable (2) Stylish
(3) Typical (4) Inexpensive
(5) Usual

. According to the passage, which of the fﬂllmwmg hasfhave

impacted bank start-ups ?

(A)Failure of foreign banks |
(B)Eagerness of individual and companies 1:-0 set up banks

(C)Changing loyalties of customers -

(1) Only B (2) Only A
(3) Al A, Band C (4}_Ciniy A and C .
(5) Only B and C o

. Which of the fﬂllﬂwmg best describes the Competition and

Market “Authority’s ﬂplﬂlﬂl’l of the tra{htmnai bamkmg

system ? -

(1) Its services and pmducts are cheap and favnu,r mall
 businesses at the cost of robustness.

(2) It lacks transparency in its pmcesses and its practlces are .

not always fair.

" (3) Traditional banks are les,s pmﬁtable than new banks

despite the government’s efforts.

(4) The quality of their services is not the same abruad and |

 domestically causing distress to customers.
- (5) Innovations are being brought in dESpltﬂ a}ustmg 1‘11}55
prohibiting these. .

H@

‘meaning to the word

thH _-is-_.‘m{}'st neafly the “PPI}SEEE i

the word W -
Choose RESTRICT given in pold as used ip

the passage. - |
(1) gxhibit (2) Enmu_raga

(3) Chock (4) Exploit

(5) Contract = | | |
Daréﬁmﬁs {11-15) Re&rmnge the given six

Sentenﬂes/gmup of Sentencex (4), (B), (C), (D), (E) and (F)
to form @ meaningful paragra aph and then answer the given

' questions.

A. Beneath its vaulting glass domes and mﬂck renaissance
murals are ‘a’ Hello Kitty cafe, a half-dozen noodie
restaurants, jeweliery shops dripping with gold and a

theatre used for karaoke contests.
8. Unfortmately, owing to the . demanding ECDnGmy

prospects for this mall are not good.

| C. The Global Harbor mall in China once ranked among the

World’s biggest shopping malls with its floor space
equwalent to nearly 70 football fields.

"D. With a mix of these utilities for consumers, it blends

_ersatz. Buropean architecture with 2 distinctly Asian
election of stores.

'E. As a result, bringing it back to its old pﬂSltlﬂﬂ has

become more urgent than ever.

I It ks only a slight exaggeration to say that China’s

i dds

12.

13

(DA

economic hopes rest on the faux- Corinthian columns of
- this maik

Which of the following shﬂuld be the FIFTH sentence after
the rearrangement ?

(DE (2) B
(4)F | (5)C
Which of the following should be the SECOND sentence
afier the rearrangement 7
(2) B
@D (5)E

Which Gf the fﬂliﬂwmg should be the FOURTH sentence

3)A

orF

- after the rearrangemem 9

(DA

‘14
- the re arran gemant 7

15,

- (Q)B
@HF - D

Which of the fnllnwmg should be the FIRST sentence after

| (3)1;0.

(LA o e
@F (5)D

Whlch mf the: fﬂllﬂwmg shnuld be the SIXTH (last)

3)B

- sentence after the rearrangement ?

- ®B | .
| ;Dlr“t‘“m (15“20) Each questmn befﬂw has two blanks,

(€ (@D

(3 A
" O)E |

. each: blank mdmatmg that something has been omitted.

N _:_ChﬂﬂSE the set af wwds fﬂr each blank that best fits the

- meamng ﬂf the sentence as.a whole.-

16 . Guests Sh{}tﬂd look |

......... t{} the new international artists

whn are 'm perﬁ::rm this writer: -

= ;_'(1) fnrward schedulad

) Garefully abnut

(2) ahead, set

(3) eagerly, lately (4} claser hkely



Ly veees - 10 @ SCIENTISE, thousands of fossils hL ......... inside

-..a cave at the Word heritage site.

(D Exclusive, unclaimed () Relating, locally

< (3) Relying, behind (4) Pertaining, buried

(5) According, untouched ) _

:;?;_f- Two months after ordering the authorities to the

. gcam, the court finally ..., to take the first step tDWﬂI’dS
ponitoring the i lnvestigation on Monday.

(1) look, scemed

(3) search, decided

:'_':_'_(5_) delve, made

ﬁ has been three months that the students of the

nstitute began their strike the appointment of the
Chairman of the Council.
_-_ﬁ_(l) about, of

.........

(2} investigate, assumed
(4) probe, appeared

.........

-------

(2) more, opposing |
{(4) over, against

to continue hisg

lllllllll

protests till the problem is resolved.

- {1} Although, wants {2) Despite, intends
- {3) Though, suggests (4) Since, prolongs
{(5) After, resolve |
“Directions (21-25) : Read each sentence to find out whether ;
there is any grammatical mistake/errov in it. The error, if
- any, will be in one part of the sentence. Mark the part with
u.error as your answer. If there is no error, mark (5) as youy
" answer.

With 80 percent of the warkmg age population, already
" employed, there is limited room for employment growth to |
“contribute strong about economic- activities in the future. |
(1) With 80 percent of the working age popuiation,

_'.;;_-(2) already employed, there is limited room
e'_;;'. {3) for employment growth to contribute strong about

(4) aﬂﬂnnmw activities in the future. -

(2) .Sta'gnaticm in Eumpe and J apem, 15 being
(3) further hampered
(4) by England’s decelerating gmwth

o ﬂ cﬂuutry § €CONOMIIc growth could be fade dramatically
aﬁ'g'}'the years to come ﬂwmg to an agmg pupulatmn
(1) The :::ﬂuntry 5 ecmmmw growth’ -

gely be Stable in thf:

;_ E';Eﬂuntry 3 EGDI]GIIllB gmwth wﬂl lar
ket plunge is beaﬂ

"~::"'__,_rd'ft';uarte1: as the impact of a stock mar

(zj;ii;_iﬂrgely be stable in the third quarter
(3 '@_._:the impact c}f i smck market pkunge

P Rt

E‘.r ermr

28,

26.

- (5) past
27.

8.

29,

A major component supporting the nation’s rapid economic
growth has been growth of exports. -

(1) A major component supporting

(2) the nation’s rapid

(3) economic growth has

(4) been growth of expﬂrta

(5) No error

Directions (26-30) : In the following passage, there are
blanks, each of which has been numbered. Against each,

five words are suggested. One of which fits the blank

appropriately. Find out the appropriate word in each case.
India’s private-schooled, English-speaking urban elite may
attract global attention, but they are in the ...26.... The vast
majority of Indian children attend government-run primary
schools in raral areas. In 2008-2009, rural India ...27... for
more than 88% of India’s primary-school students, of whom
over 87% were ...28... in government run schools. This 1s
where we see some of the nation’s toughest challenges. The
number of students completing their primary education with
...29... numeracy and literacy skills is startling. To see this
manifest in an economic sense, one may aftribute India’s
slow productivity growth-lagging behind that of East Asian
economies~to a lack of ...30... in the foundational elements
of countrywide, high-quality education.

(1) least (2) lurch
(3) minonty (4) future

(2) totalised
(4) added

(1) amounted
(3) accumulated
(5).accounted

(1) bordered (2)existed

(3) enrolled . (4) hatred

(5) proposed .-

(1) astute. - (2) inadequate
(3) certain (4)'pei*u_5ﬂd -

(5) together T

(1) progress (2) contribution

30.

31.

32,

(3) particulars

(4) boundaries

(5) schools

A vessel cﬂntams a mixture of apple ﬂrange and mangﬂ

- juices 'in the respective ratio of 3 : 5 : 4. 12 litre of this

mixture is taken out and 8 litre of apple juice is added to the
mixture: If the respective quantities of apple juice and -
orange juice in the vessel are equal, what was the 1n1t1ai
quantity of mixture in the vessel ?.(in litre) S

(1) 60 (2) 84
(3) 96 ()48
[
A bag contains 6 red, 5 yE:HGW and 3 pmk balls TWD ba]ls

are drawn at random. What is the pmbabﬂlty that none of

- the bails drawn are red in colcmr ’?

(2) -_ |

(1) - | -
R ‘
o



- 13
- i
34.
35,
36.

37,

38,

29,

40.

41.

Eﬁﬁﬁc&mm (33@’?} dn these -questions, two egmfmm

numbered I and IT ave g:ven Y{}H }mve fo Sﬂive both -the
equations and e

{zive answer :

(x> y
2)xzy

- @B)x<y
_(4) Relationship between x and. ycannut be determined

(S}X{y

I x° =81

. P13 360
3’ ~13x+14 =0
. 3) —17y+22=0
C2x°+ 9% +9=0
.4+ 9y+5=0
2P 1lx+14=0
IL 2/ ~7y+6=0
Lx-1ri12=0

. L froesee|
el fed g e powl o

1L 2y —19y4+ 44 =0

A and B together can complete a piece of work in 16 days. B

aione can complete the same work in 24 days. In how many
days can A alone complete the same work 7

(1) 34 days (2) 50 days

(3) 48 days (4) 42 days

(5) None of these -

The average salary of A, B and Cis 4 7,200/-. The average

salary of B, C and D is ¥ 7,550/-. If D’s salary is 25% more

than A’s salary, what is the average of B and C’s salary 7
(1)< 8,950/- (2) T 8,450/-

(3)T 8,300/- - (43 859(}(}!—

(5) X 8,700/- |

E}amﬂmﬁ@ {(40-44) : What will come in pfﬂce of guesz‘zmz
mark (?) in the given questions ? (You are not expected to
calculate the exact answer.) '

9659 ~ 20.99 +7.921 = 11.97=7 . e

(1) 960 - (2) 950 (3) 1260
(4)1120 GB)2e0 .

25.01% @f%i 29 97% ﬂfB{} E}l +‘? 14@

(19 (2) 145 3 (3) 125

(485 ~(5) 110

-

43,

1401 + 34.97 +21.98 x 462 m‘? |

Com o (3}4@@
(@59 .. - (5630 e

(12. 5x14)+20+ 4125 =P+ 2'5 S
(1)6 0 = (3)3

d - )T

2} .. @4%;

| 45,

‘' years hence, the respective ratio between the ages of A and c

_4239 20Tesssast Kion 0T
(1) 80 0 m (3) 68 e
)96~ - BT St oo L

" Biis 8 years eldorto A and B is also 8 years younger 9 C. 12 | [ ———— 35:’25555?

- Cwillbe 5 : 9 What 15 the surn of presant ages ﬂf A E and c ? L 200.3{ TR
- (i) 32 years TR - (2) 48 years o
C @Tayers, L @ Mwm |

e R e

i.ﬁr.ir@éch Pﬁm‘;‘r’t at 10a. -
e ﬁﬁﬁrei at aﬂ mrﬂmgﬂ sp eed 0
- hai; averagf‘» EP@@

47.

48.

49
50,

51.

ﬁ-@m Pm:nt A, Abhi will have 1o

£15 k;mfh He will reach point B
mreis at an average speed of 10 kawvh, Ay
d should Abhz i:rmr@i 1o reach Point B a1

9am.? i (2) 18 km/h
(4) 24zcmfh

(5) 22 km/h. i

The time taken by a
twice the time taken by it
downstrean. What is the spe
ravels 20 km downstrean in _
i o e
@8 (54 1
mmﬂmm (43 -52) : Whﬂf wzf! {:ﬂme in place of question
mark (?) in the given ﬂumber series'!

10 10 16 40 100 ? _ _
(1) 220 S oen . B1200
dise 51340

45894166 7598 . - _-
om - @ e G

b{}at 10. travei q distance upstream is
to travel the same distance
ed of the boat upstream If it
{hour 40 min ? (in km/h)

@are @ ()34
Teipoz A
(1) 297 . (@)139 - Bl

(4) 386 (5) 624
943347 -

Ul @ aes

. @us L

53.

139 135 128 116 977

(4)82 : (5) 63

‘The respective ratio of the suﬁﬁ_ invested for 2 years each in

Scheme A offering 10% p.a. compound . interest
(compounded annually) and in Scheme B offering 8%
simple interest is 1 :2. Difference between the interests
earned from both the schemes is ?‘ 99@{*— Hnw much was
investéd in Scheme A 7 i s

()X 9,500/~ « . (2) To {}GGL- |

(3)%12,000/- = - (4) ? 11 {}i}{}/—

(5) Z 10, 00{%— e

BEE‘EEH&HE {54u53} Refer to fhe mbiﬂ ﬂﬂd EEFESWEF‘ ﬁse  given

ﬁata rﬁmﬂﬁ m mnﬂiﬂmﬁs a?mﬂmﬁ Rﬁlﬁ qaaiai‘éeeﬁ
| o - ﬂam ﬂumg 5 }fﬁ ﬁl‘ﬂ . i

._ Yﬂ'ﬂr

Rﬁgﬁ&ﬂtﬁ% r&tm of

| Number ui‘ appeamd . Pﬂmemﬂge nf number of qualified
e Eﬂﬂdldﬂfﬁﬁ .-j apf”eﬂi‘ﬂﬂ tan&;ﬁat&s maie and number of

o Whi} qualiﬁed qnaﬁiﬁeﬁ female
o e e mdgaiate‘s

P g AR R
. . Heh i pop B e
e R L e e B R ol
. i ) "o S e iy A
h = CHESEERTEs k] [ERea R EE R ey b e SR
: : t-g .}.” S e e ey
o, A [ S, B e

5 3

._| .'
.
s L e =R
. - .

R E :! 5 N T I R L [ g
AL 3 GG ¥ .."'.:.I.-.. mrronc e
i i ¥ : .-. - 1 =,
-t A
A Ziny y

e Lt =,
T .
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 In 2003, if the number of female gualified candidates was é
70, what was the respective ratio of number of female

*_qualiﬁed candidates and number of male qualified
candidates in the same year 7

4

217:11
(4) 10: 13

Number of appeared candidates increased by 20% from
- 2002 to 2006. If 25% of the appeared candidates qualified in
2006, what was the number of qualified candidates in 2006 ?
(1) 205 @215

'(3) 245 (4) 240

= {(5) 230

If the average number of qualified candidates in 2002 and
2 2005 was 433, what percent of appeared candidates
qﬁﬁiiﬁ&ﬁ in the competitive exam in 2002 ?

(2} 5

(4) 70

:"_-cand1dates was 120, what was the number of-appeared
& andlda’tes in 2004 7

(2} 800
| (4) 600

8, In 2001, the mspectwe ratio of number of appeared

';.;j:::-:;fff-".jﬂﬁﬂﬁldﬂtﬂs to gualified candidates was 5 : 2. Number of |

__f-amale candidates quahﬁad in 2001 constitutes what

: -'percem of the number of appeared candidates in the same
i year? - |
(1) 1 504

(3) 125% _

(5} Cannﬂ-t be determined

If -the yolume and curved surfaa;:e area of a c}-'imder are 462

2 25?%
(4) 20%

thﬁ'ﬂylm&er 7 (in m %
) 351
(3)363
(5): 341

ireemmﬁ (60-64) : Refer to the gmpk aﬂd ﬂnswer the

v&n que.s‘rzﬂﬂs _
., Number of visitors in Cmmtry “KYZ” _
= from City AandCityB

@) 357 '
(4) 339- |

4007
¢ 350
£ 300

- Aﬁrﬂﬁ May | June | July | Aug |- Sep
ity A 120 | 240 | 320 - | 360 220 | 190
CxtyB 50 [ 280 | 350 | 320 | 250 .| 140

m *and 264 m respectwely, what is the tﬂtai surface areaof |

60. The number of visitors from City A in May is what percent
less than the number of visitors from City B in July 7
{1) 1.5‘3/:] (2) 25% (3} 30%
(4) 10% (5) 20%
61. What is the average number of visitors from City B in May,
~ June, August and September ?
- (1) 260 (2) 230
- (4) 255 (5) 245
62. What is the difference between the total number of
visitors from City A and City B together in September
and the total number of visitors from both the cities

together in August ?

(1) 170 (2) 120

(4) 140 (5) 150 - |
63. The number of visitors from City A in April increased by

20% from the previous month. What is the respective ratio

between the number of visitors from City A in July and the

number of visitors from the same city in March 7.

(3) 265

G120

(L) L8 i 7 @) 19:7
Pl o8 (4}19:5 .
D) I8 5 |

- 64, The numbef of visitors from C1ty B increased by what

percent frnm April to June 7 -
2

(1) 132% (2) 120 3%
(3)133%% | @ 134%
(5) 127%% | -

65, A gave 40% of an amount to *B’. From the ﬁmn&y B got,

- he paid 20% to a tax. Out of the remaining amount, the

amounts paid by B towards tuition fees and towards library
membership are in:the respective ratio of 3 : 5. If B paid

T 1,720/- as library. membershlp fees, hnw mﬁch I‘l‘lﬁﬂf‘:y did-

A have at the beginning ?
(DHX 9,000/- (2) 3 _12,4{}81’— '
(3) ¥ 12,000/- {4y ?'B,BO{JF

- (5)% 8,600/~ =

Blreﬂiﬂm (ﬁ-ﬁn"?ﬂ) Study e‘ke fﬂi!ﬂwmg Iﬂfﬂ?ﬁ?ﬂﬂﬂﬁ Iﬂ
answer the given questions.
_ Seven people, namely O, P, Q R, S, ’1‘ and U wﬁi at‘tend a
~ farewell but.not necessarily in the same order, 11 seven
- different months (of the same 'year) namely February,
March, April, May, July, October and Décember. Each of
them also likes different stationary items namely Pen,
Stapler, Ruler, Fﬂider Envelope, Label and Wm'ksheet but
not necessarily in’ the same order. L

- The one who likes Envelope will a’etead a fazeweii in a
* month which has léss than 31 days. Only one person will
- attend a farewell between the one who. likes Envelope and
 O. The one who likes Ruler will attend a farewell
" immediately before O. Q will attend a farewell m&dlﬂiﬁl}’
after O. P will attend a farewell in one of the months before
Q. Onily two people will atténd a farewell between Q and P.
U will attend a fareweil ina mnnth whlch has less than 31



6.

67.

68.

69.

70,

=

days. T will attend a farewell immediately after U. Only one
person wiil attend a farewell between O and the one who
likes folder. U likes neither pen nor stapler. The one who
likes pen will attend a farewell immediately before the one
who likes Woarksheet. S does not like Ruler.

Which of the following represents the people who will
attend a farewell in March and October respectively 7

()T, Q (2)T, 0

(3) U, 0 (H U0

G5)1 5 |

Which of the following represents the month in which R will

attend a farewell ?
(1) May

(3) huly

(5) March

How many people will attend a farewell between the
months in which U and G will attend a farewell ? |
(1) More than three {2) Three .

{3} None (4) Two

{3) One

As per the given arrangement, February is related to
Envelope and March is related to Ruler, which of the
tollowing is July related to following the same pattern ?
(1) Label (2) Pen

(3) Folder (4) Worksheet

{(5) Stapler |

Which of the foliowing stationary does S like ?

(1) Worksheet (2) Label

(3) Stapler (4) Pen

(5) Folder

Directions (71-75) : Study the ﬁ?Hﬂwmg mfﬂrmarmﬂ 10
answer the given questions.

LK, LM, G R, Sand T are sitting amund a circular table
tacing the centre with equal distances between each other

(2) Cannot be determined
{4) October

-

(but not necessarily in the same order). Each one of them is. |

also related to M in same way or the other.
Only two people sit between (@ and L. M sits second to the

left of Q. Only three people sit between L and M’s wife. M’s

son sits second to the right 6f M’s wife. Only three people sit

between M’s son and M’s bmther M s daughter sits second |

to the left of M’s brother.
T:sits to the immediate right of R. R 15 IlBlthEI‘ the son nor the

wife of M. M’s sister sits second to the left of R. K sits to the |

immediate right of M5 sister. Only two people sit between

Y . K and M’s father. T sits second to the right of M’s mother.

71.

=

*°*(3) Daughter-in-law
(5) Mother _ |
“WHho sﬁs second to the right of R?2.

| 73,

How many people sit between Q and J, when counted from
‘the left of J ? o | *

(2) One

(1) Four
| (4) .Fiw_.fe

(3} None
(5) Two
How is K related to R 7

(1) Brother (2) Nephew

(4) Uﬂcl_e =

(1)R (2) M’s bmthef
B (A Ms daughtef' o

74, Who amongst the following 1

o the wife of M 7

_ 2) K

(1)Q J

G)N | .
(5) O

15.

" Inrow 2-D, E, F, G and
 same order)

16.

‘Ten people are S

wWhich of the following statements is frue With respect to he

-i‘?
iven information
(gl) All the given statements are true

d to the leftof L

2) M sits secon |
ES; K is an imm mmediate nelghbnur of K

4) § is the daughter of L .
ES; R sits second to the right of M’s WIfE

Directions (76-80) : Study the fﬂh’ﬂwmg information to
tHOANS.

e gwf‘?’”jt:; in two paraﬂel rows containing five

h a way that there is equal distance between

T, U, V, W and X are scated (not

er) and all of them are facing north,

H are seated (not necessarily in the

and all of them are facing south. Therefore, in the

given seating arrangement, each member seated in a row faces

people each, 1n suc
adjacent persons. In row |
necessarily in the same ord

 another member of the other row.
V sits exactly n the middle of the row. The person facing V

sits to the immediate leftof F. H 1s-an immediate neighbour of
E. W sits second to the left of U. U faces one of the immediate

neighbours of E. G 1s not an munedmte nmghbﬁur of D. G
does notsitatan axtreme end of the line. X does not face D

Who amongst the fﬂElﬂwmg 15_:f_acmg_ E ‘?

(X @T
3V . ) U
(5)y W

b

What is the pﬂSltIDIl {}f G wﬂh respect tﬂ H ?

- (1) Third to the right (2) Second to the right
- (3) Second to the left 4) Immed;ate right
(5) Immediate left . e Bl

78,

Wllich of the fﬂllnwmg statements is true regarding X ?
(1) Only two persons sit between X and U
(2) X faces one of the immediate nelghbours of F

" (3). W is an.immediate neighbour of X -
"~ -.(4) None of the given statements is true

g,

80,

~ given arrangement and hence form a gr{mp Which of them
-does ot belnng tn that gl'ﬂup .? =

(5) X sits m: ari extremﬂ ends of the line
Who amangst the fﬂHﬂWlﬂg is facing T ‘?

(DE @H
3D - (4).?._,
6 - e

Four nf the: gwen ﬁve are’ ahl-:e na certam way based on the

i Dnrettmns (81.-

85) Study ﬁle fﬂﬂﬂwmg mfﬂrmarmn to

o ﬂﬂSWEF‘ the given guesrmns
CIna certam code language

- ‘offerp prayers to gnd is. wmten a.s;. bz
- pra,yers f{:-r SChﬂﬂl ass

00 st
ﬂ?“’l}’ IS wnttﬂﬂﬂs ‘tm oc da pu




for 7
(1) Either ‘offer’ or “to’
(2) god
(3) school
** (4) Either ‘education’ or ‘special’
© 0 (5) must
. What is the code for ‘assembly’
(1) tm (2) rx |

(3) st (4) da |
(5) Other than those given as options
What is the code for ‘prayers’ in the given code language 7
. (1)nh (2) oc

(3 gv (4) pu

(5) rx '

84. ?fhat may be the possible code for ‘assembly ground’ in the
: . given code language ? '

in the given code language ?

{1 vebs (2) da nh

. Itschool to home’ is written as “aj trh st’ in the given code
language, then what is the code for “home for god’ 7

~(ajgvah (2) pu aj b
(3)nh bipu (4) bi da aj
(5) aj oc pu

. Directions (86-88) : Study the following information to
" .. gnswer the given questions.

-~ Each of'the six salespersons viz. U, V, W, X, Y and Z sells a
- different number of life insurance policies in a day. U sells
- .- more policies than Y and Z but less than X. Z sells more
- policies than only W. X does not sell the most number of
- policies. The one who sells the third highest number of
- policies sells 33 policies and the one who sells the lowest
- ‘number of policiessells 11 policiesinaday. Y sells 13 more
i policies than W. L B . =

. ‘If the number of policies which V sells in a day is less than
47, and is an odd number which is divisible by 3 but not 5,
“- -hew many policies does he sell 7 | "

(1) 24 (2) 45 (3)39-

(427 (5) 21 -

How miany policies does Z possibly sell 7.

()19 (2) 26 (3) 30

424 (5) 41 -

“Who amongst the following sells the second highest number
of -p{}i_icies inaday? . . _

wv . . @y - OW

@)X ez --

Directions (89-93) : In these questions, relationship
" Between different elemenis is shown in the statements. The
statements are followed by~ conclusions. Study  the
%5:!.__,35;;&:@5@;5:5 based on the given statemenis and select the
dppropriate answer. - e
Give answer : o
(1) If only conclusion 11 s true
(2) If only conclusion I is true E |
(3) If both conclusions I and 1l are true - -
(4) If either conclusion T or IL is trug .
(5).If neither conclusion I ner Il istrue’
9, Statements : F<RSE2A>K Y2E
Conclusions : L. A2F ILR=E -

:.ISL' In the given code language, what does the code ‘mk’ stand

—_——Ar e

:

..........

90, Statements : B<R<E=A>D>28; D=2C<)
' I1. E=S

Smtemﬁats: AB2C«<D<E<F
Conclusions : I. C<F ; Ii. A>E

Statements : B<RsbE=Az2D25;D20<]
Conclusions : 1. J<B ; I I=R

Statements : F<R<EZA>K;YZ=2E

Conclusions : I. Y>K ; Il F<Y

Directions (94-95) : Study the following information to
answer the given gquestions.

% - K is the brother of J. J is the mother of Y.

& Y is the sister of T. T is married to Q. S is the fatherof J. |
S has only one daughter. S is married to R.

£ K is the brother of D. U is the father-in-law ot D.

Conclusions : L. D=B ;
91.

o

93,

94, How is D relatedto Y ?
(1) Cannot be determined ~ (2) Mother
(3) Uncle (4) Father
(5) Aunt P : | S

98, If U is the father of C, then how is D related to C ?
(1) Cousin (2) Husband |
(3) Wife (4) Cannot be determined
(5) Brother L

Directions (96-100) : In these questions, two stalements
followed by two/three conclusions numbered I and I have .
been given. You have to take the given statements 1o be true
_even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given
statements disregarding commonly known facts. |

Give answer :
(1) If only conclusion I is true
(2) If enly conclusion I is true
" (3) If both conclusions I and I1 are true - - -
(4) If either conclusion I or Il 1s frue
(5) If neither conchision I nor I is true | L
~ Statements (96-97) : All points are views. No viewis an -~
~ idea. Some ideas are thoughts: . . S
96, Conclusions: . - .
I, Some thoughts being points is a possibility. =
 IL Noviewisathought. =~~~ 7 .
- 97, Conclusions : S e
o - L At least some ideas are points. CE e
- I1. All thoughts being ideas is a possibility. ©: -~ _
98. Statements : Some slides are photos. All photos are images.
All images arecreations. -~ . o
Conclusions : &
I. At least some images are slides.
1. All photos are creations. -' 2 .
99. Statements : No loss is profit. Some profits are gains.
Conclusions : "
I. No gain is a loss. |
_+ L Somé gains are losses.

1 100. Statements : No space is a gap. Ml__ti_séues”a:te gﬁ;ﬁs_ No gap _

15 a crack.

Conclusions: =

1. No space isa crack.
II. No tissue is crack. *.
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